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Name: ________________________________ 
 
Practice Writing Linear Equations 
 
Part I: Write the equation for each graph in slope-intercept form (𝑦 = 𝑚𝑥 + 𝑏) 
 

1.)   

 
 
 
 
 
 
 
 
 
 
 
 
Part II: Write the equation of each line 
in slope-intercept form (𝑦 = 𝑚𝑥 + 𝑏) 
 
3.)  Slope is -2 and y-intercept is −2  

4.)  Slope is !
"
 and y-intercept is 14  

5.)  Slope is −1 and y-intercept is ##
$

  

 

Part III: Write the equation of each line 
in slope-intercept form (𝑦 = 𝑚𝑥 + 𝑏)  
 

6.) Passes through (-2,12) and (-1,-4) with a y-intercept at -4  

7.) Passes through (-6,-14) and (6,-4) with a y-intercept at -9 

8.) Passes through (3,4) and (8,-11) with a y-intercept at 13 

 
Part III: Write the equation of each line 
in slope-intercept form (𝑦 = 𝑚𝑥 + 𝑏)  
 

9.)  Passes through the point (5,0) with a slope of − %
$
 

 
10.)  Passes through the point (0,-5) with a slope of $

%
 

 
11.)  Passes through the point (-3,-3) with a slope of -#

&
 

 
12.)  Passes through the point (4,-5) with a slope of -8 
 

2.)   
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ANSWER KEY  
 

1.) 𝒚 = − 𝟒
𝟕
𝒙 + 𝟓 

2.) 𝒚 = 𝟔𝒙 + 𝟐 

3.) 𝒚 = −𝟐𝒙 − 𝟐 

4.) 𝒚 = 𝟕
𝟔
𝒙 + 𝟏𝟒 

5.) 𝒚 = −𝒙 + 𝟏𝟏
𝟓

 

6.) 𝒚 = −𝟖𝒙 − 𝟒 

7.) 𝒚 = 𝟓
𝟔
𝒙 − 𝟗 

8.) 𝒚 = −𝟑𝒙 + 𝟏𝟑 

9.) 𝒚 = − 𝟒
𝟓
𝒙 + 𝟒 

10.) 𝒚 = 𝟓
𝟒
𝒙 − 𝟓 

11.) 	𝒚 = − 𝟏
𝟑
𝒙 − 𝟒 

12.) 	𝒚 = −𝟖𝒙 + 𝟐𝟕 
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2.)  

 
 
 
 
 
 
3.) 𝒚 < − 𝟏

𝟐
𝒙 + 𝟑 

 
 
4.)  B 

 

 


